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150,000& = 89CH = 30% 4,005
o AP B AU 2D
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o s 88 g8 =X 6,000,000& 6,000
o HEZNE YR8 2|
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207 I & 22,000 22,000 0]
01 g EAY| 22,000 22,000 0
o SEHA 28 MEEZA APSY
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DEX SHHGIS MABE QIHIEIE XJAY 4,000 4,000 0
& 1,200
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70,0003 = 15%tA « 3& 3,150
o IS A2 siotgisH
3,000& = 1,000% 3,000
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201 ¢er24] 31,600 30,000 1,600
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o DEYHEI MU 29 g
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o =M WSt ¥ =XE 2el
30,000,000& * 13l 30,000
307 gl2tol & 8,000 8,000 0
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o WsSXNE HHQ &5 X 6,000,000& 6,000
o e Mgl nsSEAM HE X
2,000,000& 2,000
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e 2,847,106
wESotd AMSI AX & 2el 223,800 173,800 50,000
= 27,000
i 196,800
ASI AX L WA 173,800 173,800 0
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o NS5 S AHOE LHSA
8,000,000 * 2JH A 16,000
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